
部品表

数量部品名部品番号項目

4Part_stopper_endJGW-D1605460-12-11

1Part_stopper_sliderJGW-D1605460-12-22

1Part_adjust_screwJGW-D1605460-12-33

1Part_stopper_guidebaseJGW-D1605460-12-44

1Part_stopper_holderJGW-D1605460-12-55

8六角穴付ボルト(SUS304) JIS B 1176 - M4 x 8　6

2六角穴付ボルト(SUS304)JIS B 1176 - M6 x 167

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

National Astronomical 

Observatory of Japan

1 : 1

1 / 1 

1
Scale

Drawing No.

 JGW-D1605460-12

Rev.

THIRD ANGLE PROJECTION

A3

Title

 Assembly Stopper

Project

KAGRA Type-A VIS

Approved

Drawn

Designed

NAME DATE

2017/07/25

Ishizaki

Ishizaki

Material

Unless otherwise specified:

All dimensions are in millimeters (mm).

Tolerances: JIS B 0419-mK

Machining finish: Ra25

Edge breaks: 0.2x45°

Checked

FINISH

Assembly_stopper_ITM.iam

Source

・PROMEC No. 354_10009-01

100

50

M6x1 - 6H 長さ90

2-M6x1 - 6H

2-M6x1 - 6H 長さ16

80

3
0

1
0
0

4
0

80

40

20

3
5

1
5

30

8-M4x0.7 - 6H 長さ8

1

2

3

4

6

7

5


